Ml BEassr. ErneTiedd £z orrs it
o _ 1
%Tg—ﬂ—mgmﬂ Ta—dn;a:&
Mla zht-REF MIx0(-es8) = gmvy &Y

flipe= ZJJ,Q(I—(-GB)
B3 BhofEne ez dH A5

Oy . mu,
T = =T=—w; R R 22 T M2

M4 FlE%o £G4 20 = o %43 wgla g 33} SENE T L

; e
zg =T=-|mg Y T, = m?—‘*m:

M Hrflorsiesiiids. HEnzTe: _;iiabg,zw
M%{— =T;~h-g Cos
“fhﬁ % 29—(\-—{,998) = mg 20k casy) + %\m'l};

P2 beog=0r S o FRATr 20 Th iz ko

2~ Ztasi(d =I-C°350 Y sy = 2casf-1
T: = Mg tas g = mg (2@18li 20 c.a-:B?l;
7 rﬁ
B17 T’j La F2lc E?%EEME
e
\nd 2 = Dsned-Peces o/ Tt
Leosaol |- /4 - -

A I
=t Y= Lot Pesnt - 787

0s:nd x=0anrt Y9=0

8 aﬁtﬁi E

n=o ¥y t= L2 & yopa i 1=fO

Veemdd
ﬂrura/-ﬁzﬂ/c.. _/%w__ A [

Wora + g £¥ - Logloed

Coshel 4 il — % tom®f =0

Dacet
(I}YGﬂO{) 2
= 0
y iz
tom o = J;

2z
a



BRIl Ve AstAR Viis % Ti""]-rg/\,?"nj P

5| 2 Vg = ToRsin ot
Ve = Towl sin(ut + 5) = Tawlepert

o L0 Ty=._ Lo
\/C —IODQC,S-'H (Mt—'i') ":"E'C"Nt

Bl3 Efnferze 2= [+ -k )

Vo ktffiz  ToZ = TP+ (i)'

Fb;[4 IR - \{gﬁhwt

- Vn . T a _!:
1 srln(m‘t--—é) S “Lcosmt
Ve

s

Iz21(ZVia
d{n f>"€5 39 %, jb?“;"j-}a'% H (7

1e- Y (ks ) - wcvenri SRS IIPeRe
tot
SERETE
JI\I‘C K
X IowKfbe I 33
........ i L Vo2 Vo % = 2
—?f‘; % IQ_J(E]"’(‘QCVU—'ML) _\/DJ(%),‘_(N(—-Q,J_(I_)J.
[
J/—ﬁ \/03 = —LD (E T.3Z )
L J(‘}E)*‘(‘”c—q’]—l[);

8- :2 23

id =

l

| gy



A F,\\_gf = |.R-T,

FbE“ FA\{;? = |-R-T, , Pn Vo

=1'RT, &Y gfqu Qas = Wae+ 0
FA=2{’° X F"VD: 39531,
&hid (s WS Y i.|_}e.€r_ )
o [ BC + 3 c=Ta
ﬂflz PoVu ~ FQ (\—%) 129) Fc - 2‘ P. &:ﬁ‘ w@ ; L
v Vi ] iR
e\Vo v Vo o-1 3
B2 Tee B L BE TR O g e

P4 Swvt = 20T m B)fFedae fEBAFB o
3. 28 EA FRtdue Mol

Rl5 eawggabiiim aa b

flﬁ-J’ GCJA — oD + _,_;:. I.R_ (‘TD"TC)
c

L3188 €24

Fﬂé (1) @ = Qag . @2=— Qy

Q@ag + Qeca = ~W &) @-Q=-Ww

) BFRAEr e al3aT Woo Ty tht $645ha 1 BB b
BreRIXEr b
Mo ¥r Q- @-w< a, 1S, Qi< @a



Bl Ao=Bo ERFS Rt Boasdd
Bl 8
A3 al = BD-AD

= ,lS'2+ (2d)* - s
=Js’+4o\'—$

Rl4 C- Daw=q2 p §25h33 Ric
{§AR ~ I b 21 1B,z
A p 1 RE < 48573

S

—_—

A A

FAS D Ax ?’.;fh?z iz F ifelemn 2.
TSI4 EIEBN I RE.
<h2|Afa fta 5 BT 3MERAB E T 3L
TER 33

HEm 2da ?‘353 37T d=a ;ﬁ\

16 T(Ar——}swor—wz

N5 o
:mlz—\‘Z-@i
sl heafl al (e 2)

;‘1 §22= "4 2}\“;{

=95 S= 42

>
n

)=

&



